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A.SSE.A.2: Factoring Polynomials 4

1 When the expression (X +2)° +4(X +2) +3 is 6 If (a3 + 27) ~(a+ 3)(a2 +ma+ 9), then m equals
rewritten as the product of two binomials, the result )y -9
> 2) -3
) X+3)(x+1) 3) 3
2) (X+5(x+3) 4 6

3) X+2)(x+2)

4) X+6)(x+1
) X ) 7 When factored completely, m® +m’ —6m s

_ o ) equivalent to
2 Which expression is equivalent to 1) (m+3)(m-2)

(X+2)° =5(x+2)+6? 2) (M +3mym’ —2)

3 Z()EX—;)I()X ) ) m -’ - )
3) (X—4)(x+3) 4)  m(m’ +3)(m* -2)
4) (xX-6)(x+1)

8 Which expression is equivalent to

3 Which expression is equivalent to Xyt (x* = 16) = 9(x* — 16)?
(X+3)> +4(x +3)—5? 1) x"y*—16x°y* —ox* — 144
1) (x+5x-1) 2) X’y =9)(x+2)(x-2)
2) (x+8)(x+2) 3) Y XY - +2) (X —2)°

3) X=2)(x+4)

4) (XY 43Xy =3)(XF+4)(x° —4)
4) X*+4x+16

9 Which expression is not equivalent to 36x° —25y*?

. 2 . .
4 The expression (X +4a)” +5(x+a) + 4 is equivalent h 62 (X3)2 3 52(y2)2

t

D (a+D@+d) 2) (65 - Sy 6K +5y°)

2) (X+1)(x+4) 3)  (6x° =5y*)(6x° +5y*)

3) (x+a+I)(x+a+4) 4) (32X’ —5y")(3 2%’ +5y7%)

4) x*+a’+5x+5a+4
10 Which expression is equivalent to X —y®?
5 The expression (X* +3)> —2(x” +3) — 24 is ) (x-y)*
?()]ui\g(lfit;;)(xz o 2) (K +y)E —y?)?
D -3+ 3) (X +yHC +yHX+Y)X-Y)
D X221 4 x+y)'x-y)’
4) x'+4x* -9
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Factored completely, X* +4x> —9x* — 36X is
equivalent to

) X(X+9)X=-9)(x+4)

2) xX(X+3)(X-3)(x+4)

3)  (XP=9X)(x+4)

4) X(X>=9(X+4)(x+4)

The completely factored form of
2d* +6d° —18d* —54d is

1) 2d(d*-9)d+3)

2) 2d(d*+9)(d+3)

3) 2d(d+3)*(d-3)

4) 2d(d-3)°(d+3)

What is the completely factored form of
k* —4k> +8k> —32k + 12k * —48?

1) (k=2)k-=2)k+3)k+4)

2) (k=2)k-2)k+6)k+2)

3) (k+2)(k—=2)k+3)k +4)

4) (k+2)(k =2)k +6)k +2)

The completely factored form of
n*-9n*+4n° —-36n-12n° + 108 is
) (N*=9(n+6)n-2)

2) (n+3)(n-3)(n+6)(n-2)

3) (n=3)n-3)(n+6)(n-2)

4)y (n+3)(n-3)(n-6)(n+2)

Which factorization is incorrect?

1) 4k’ —49 =2k +7)(2k -7)

2) a’—8b’=(a-2b)@’+2ab+4b?)
3) m’ +3m’ —4m+12=(m-2)°’(m+3)

4) 457 +6t+t7 +5t+6=(t+ 1)(t+2)(t+3)

Which expression has been rewritten correctly to

form a true statement?
1) (X+2)° +2(x+2)—8=(X+6)x

2) X' +4x+9xPy? —36y° = (x+3y)*(x—2)°

3) X +3x7—4xy® — 12y = (x=2y)(x +3)°
4) (X =4 =5x>-4)-6=(X"-T7)(X" -6)
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Name:

Over the set of integers, factor the expression
x*—4x? - 12.

Over the set of integers, completely factor
x* —5x° +4.

Factor the expression X —2x* —9x + 18
completely.

Factor X* +4x> — 9x — 36 completely.

Factor the expression 2x° —3x” — 18x +27
completely.

Over the set of integers, factor the expression
4x* —x* + 16X — 4 completely.

Over the set of integers, factor the expression
2x* — 10x” + 3x* — 15x completely.

Factor completely over the set of integers:
2x* +x° +18x* - 9x

Completely factor the following expression:
X2 43Xy +3%x° +y

Rewrite the expression

(4X2 + SX) g 5(4X2 + SXJ — 6 as a product of four

linear factors.
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1 ANS: 2
U=x+2 U’ +4u+3
U+3)u+1
X+2+3)(x+2+1)
X+5x+3)

REF: 081901aii

2 ANS: 1
U=x+2 u’=5u+6
u-=-3)u-2)
X+2-3)(x+2-2)
x—=1)x
REF: 012301aii
3 ANS: 2
Uu=x+3 u?+4u->35
u+5u-1
X+3+5)(x+3-1)
X+8)(x+2)

REF: 062401aii
4 ANS: 3

(X+a)’ +5x+a)+4 letu=x+a
u’+5u+4
u+dHu+1)
x+a+4x+a+1)

REF: 012006aii
5 ANS: 2

(X*+3)> =2(x> +3) =24 letu=x"+3
u’—2u-24
(U—6)(u+4)
(X*+3-6)(X" +3+4)

REF: 062310aii
6 ANS: 2 REF: 081904aii
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ANS: 4
m’ +m’ —6m=m(m* +m’ —6) = m(m* +3)(m* —2)

REF: 011703aii
ANS: 4

x°y* —9)(x* - 16)
CY?+3)CY? =X +4)(x* —4)
REF: 081814aii

ANS: 3 REF: 062302aii
ANS: 3

X*—y® = (X +y ) =y = YD YK -y = (YD )XY -Y)

REF: 082423aii
ANS: 2
X(x* +4x* —9x — 36)

X(X* (X +4) - 9(X +4))
X(X* —9)(X +4)
X(X+3)(X-3)(x+4)

REF: 062407aii

ANS: 3
2d(d® +3d* —9d —27)

2d(d*(d +3) —9(d + 3))
2d(d* —9)(d +3)
2d(d +3)(d - 3)(d +3)
2d(d +3)*(d - 3)

REF: 081615aii

ANS: 4
k* —4k? +8k* —32k + 12k* — 48

k>(k* —4)+8k(k> —4)+ 12(k* — 4)
(k* —4)(k* +8k + 12)
(k +2)(k —2)(k +6)(k +2)

REF: falll505aii

ID:
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ANS: 2
nz(nz —9) +4n(n2 —9) - 12(n2 —9)

(n2 +4n— lzj(n2 —9)
(n+6)(n—-2)(n+3)(n—-3)

REF: 061911aii
ANS: 3
(M=2)>(M+3)=(mM* —4m+4)(m+3) =m’ +3m’ —4m’ — I2m+4m+12=m’ —m* —8m+ 12

REF: 081605aii

ANS: 1

1)lety=x+2, then y* +2y—8
(y+4Hy-2)
(X+2+4)(X+2-2)
(X+6)x

REF: 081715aii
ANS:

o) )

REF: 081825aii
ANS:
X' —5x° +4
X =4Hx>-1)
(X+2)(x=2)x+ D(x—1)

REF: 012331aii
ANS:

X —2x* —Ox+18 =x*(x=2)—9(x —2) = (x2 —9)(x—2) = (X+3)(X=3)(Xx-2)

REF: 082226aii
ANS:

x> +4x2 —9X =36 = X2(X +4) — 9(X +4) = (x2 —9)(x+4) = (X+3)(X = 3)(Xx +4)

REF: 012425aii

ID:
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ANS:
2% —3x? — 18x +27

x> (2x —3) —9(2x — 3)
(x> =9)(2x -3)
(X +3)(x—3)(2x = 3)

REF: 082325aii
ANS:

XX = 1) +4@dx—1) = (X* +4)(@x—1)

REF: 061727aii
ANS:

2x* = 10x? +3x% — 15x = X(2x> — 10X” + 3x — 15) = X(2x* (X = 5) + 3(X — 5)) = X(2x* + 3)(X = 5)

REF: 082427aii
ANS:

—X(2x° —=x* —18x+9)
—X(X*(2x—1)=9(2x — 1))
—X(X*=9)(2x - 1)
—X(X+3)(X-3)2x-1)

REF: 062228aii
ANS:

3 X243y +Y = X2G3X+ 1) +yGx+ 1) = (x2 +y)(3x+ 1)

REF: 011828aii
ANS:

The expression is of the form y*> —5y — 6 or (y —6)(y + 1). Let y = 4x> + 5x:
(4x2 +5x—6) (4x2 +5X + 1)

(Ax=3)(x+2)@x+1)(x+1)

REF: falll512aii

ID:



